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99.875x /215

1.  Estimate , giving your answer correct to 1 significant figure.
963662 = BY & .
Tl T | [2]
2 Kenneth bought a second hand Samsung phone for $240 and sold it at $300. Express the

profit as a percentage of the cost price.

Answer




3 (a) Solve the inequality 6x—9 >3 —2x.

Answer (7 1 P St [1]

(b)  Show your solution to part (a) on the number line below.

v

(c) Hence, write down the smallest integer value of x which satisfies 6x —9 >3 - 2x .

Answer (c) X S e [1]

4. The numerator of a fraction is 2 less than the denominator. If 3 is subtracted from the

numerator and the denominator, the new fraction obtained is i Find the original fraction.

ANSWEF ..o e e e e ie e e 3]




5. A building can be completed in 240 days with 100 workers. It is given that all the
workers work at the same rate.

(a) Find the number of days 40 workers will take to complete the building.

Answer (@) e, days [2]

(b) Find the additional number of workers needed to complete the building in 200 days.

Answer (- —————— more workers [2]

Solve the following pair of simultaneous equétions.

x+3y=2
x—2y=-3

Answer o




7. Factorise completely.

(a) 4p" -1

ANSWEF ..ot (2]

(b) 3x* + yz+3xz +xy

8. Expand and simplify 2(6a +4b)—10(3a - b).

Answer (2]




9(a) Expand (3x—2y)(4x + 5y).

AnSWer o[ 2]

(b) Factorise x’- 9x + 8

ATIWE s avmmasmvenna Ss s e E an]




10. It is known that y is directly proportional to x* and that y = 150 when x = 5.

(a) Write down an equation connecting y and x.

Answer
(b) Find y whenx=9.

Answer
(c) Find x wheny=13.5

Answer

(@)

(®)

(©)

.............................

(2]

[2]

(1]



11. Solve the following equations.

(@ 3(x-5=11+x

(b) 2y+1_

Answer y =......coenn.

2]
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(a) State the y-intercept of the line x+ y = 2.

ANSWET: ... covisiivvuvvens

(b) State the coordinates of points 4 and B.

ARSWEr A (... ey

B ooy

(¢)  Find the gradient of the line x+y =2.

Answer .....coooecveennn.

(1]

) 1]
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END OF PAPER
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Section A (28 marks)

1. Calculate

103-03x-+7 186,
23

giving your answer correct to

(a) the nearest integer,
(b) 2 decimal places,

(c) 3 significant figures.

Answer:(a) (1]
(b) (1]
(c) [1]

2. A boy ran 10 km in 50 minutes. He then walked a further 5 km at an average speed of 3 km/h.

Calculate
(a) his average running speed, giving your answer in kilometres per hour,

P15 o ol ) RN ——— km/h [1]
(b) the number of minutes he was walking,
(D) sy mins [1]
(c) his average speed, in km/h for the whole journey.
{1 R km/h [2]




3. Simplify the following.

[1]

(2]

1
a) —h-2h
(@) 3
Answer:(a)
x 2x-3
(b) 4 2
Answer:(b)
4. Solve the following pair of simultaneous equations.
2x+3y=18
2x—y=5
Answer: x= ,y=

(3]




5. Solve the following equations.

2 _3
(a 2x-1 4x ,
Answer:(a) [2]
2x-5
(b)y —+ 3 =5
Answer:(b) [3]




6. Expand and simplify

(a)

(b)

(3d+5)(d~2)-4d* +7d,

(4x - y)2 +x(4x-y)

Answer (b)

..............................




3

It is given that x* —y* =189 and x—y=7.

(a) Find the value of x+y.

(b) Hence find the value of x.




Section B (32 marks)

8.(a) Sean wants to travel to Johor Bahru from his house. The following table shows the
time (¢ hours ) that he will take if he travels at different speeds (v km/h ).

v km/h 80 100 120
t hours 2.5 2 1—;—

Are v and ¢ in direct or inverse proportion? Show working to support your answer.

(b)  Find the speed, in km/h, of Sean if he takes 3 hours and 30 minutes to get to Johor
Bahru from his house. Express your answer correct to 3 decimal places.

() If Sean wants to reach Johor Bahru at 2 am, what time should he set off if he plans

to drive at 80 km/h?
Answer: (a) vandtarein PrOPOFLION DECARBE .....coovommusuisnvanusiniss
1. TR —— km/h
(5

(1]




9. (a) Complete the tables below for the respective equations.

y=2x-1
X 0 2 4 6
y 3 11
y=-x+2
X 0 2 4 6
y 2 ]

(2]

(b) On a separate graph paper, using a scale of 1 cm to represent 1 unit on the y-axis and a

scale of 2 cm to represent 1 unit on the x-axis, draw the graphs of y=2x—1 and

y=-x+2for 0<x<6. [3]

(c) Using the graph, write down the solution of the two simultaneous equations.
y=2x-1

y==x+2 2]

10(a) (i)  Factorise kp +kq.

(i) Hence evaluate 23.45x59.12 +23.45x 40.88.

10(b) The graph shows the charges made by Company M for telephone calls lasting up to

8



10 minutes.
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Company M charges a connection fee of x cents and all calls are charged at the constant rate of
¥ cents per minute.

Using the graph, find
(i) the cost of a 7 minute call,

(ii) the value of x and of y.

(DX =eeovereeeeee Y = e e [3]

11. A rectangular field is (x + 3) m long and (x—3)m wide.
9



(a) Write down an expression, interms of x, for the area of the field.

Expand and simplify your answer.

Answer: [2]

Inside the field, a square of length (x — 5)m is fenced up to plant vegetables.
(b) Write down an expression in terms of x for the area of the square fenced up to plant
vegetables.

Expand and simplify your answer.

Answer: [2]
(c) Find, in terms of x, the remaining area left.
Answer: [2]
(d) If the remaining area is 16 cm?, find the value of x.
Answer: (1]

12. (a) y is directly proportional to the cube of x and y = 48 when x =2.
10



Find

(i) anequation connecting y and x,

Answer: (a) 2]

(ii) the percentage increase in the value of y when the value of x is doubled.

Answer: (b) [1]

12(b) The sum of ages of Brandon and his mother is 52.

11



Four years later, Brandon’s mother will be three times as old as Brandon.
(i) Given that Brandon is y years old and Brandon’s mother is x years old, write down

two equations in x and y.

Answer (b)(i)

[2]

(ii) Solve the pair of simultaneous equations and hence, find the present age of Brandon.

Answer (ii) [2]

END OF PAPER 2
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2NA MYE PAPER 1 MARKING SCHEME

200

Qn WORKING / ANSWER MARKS
No.
1. _100x3216 M1
300
_100x6
300
=2 A1
2 Profit = $300 - $240
= $60
60 M1
=25% At
3a 6x + 2x > 3+9
8x >12
X >1.5 A1
3c Smallest integer value of x is 2 A1
4 Let the denominator be x.
The numerator is x — 2.
(x—n—Szi
x-3 4 M1
x—5=§
x—3 4
4(x—5)=3(x—3) M1
4x-20=3x-9
4x-3x=20-9
x=11
The fraction is d
11 A1
5a 100 workers take 240 days.
1 worker will take 240x100 days M1
40 workers will take
240x100
——— =600 days A1
b 240 days -------—--100 workers
1 day ---------------100x249 workers
200days---------- M1
M =120 workers




Hence 120-100=20 more workers are
needed.

A1

6 x+3y=2 (1) Method : 1 mark
X—-2y=-3 (2)
(1) =(2):
S5y=5
y =1 A1
Substy =1 into (1)
x+3(1) =2
X =2-3
X =-1 A1
7a =12p)*-1* M1
A1
=2p-D(2p+1)
B _ = (3x* + xp) + (yz + 3x2)
g:'s o | =xCx+y)+2(p+30) M
taken | =(x+y)(x+2) A1
out.
8 =12a + 8b — 30a +10b M1
=12a-30a + 8b + 10b
=-18a+ 18b
=18(b-a) A1
9a =12x" +15xy —8xy —10)” M1
=12x* + 7xy —10y* &
9 X |-8 M1
X | x2 |-8x
-1 [x | -8
X2-9x+8 = (x-8)(x-1) A1
10a y=kx?, where k is a constant.
Substx =5,y =150
150 = k(5)?
150 = 25k
k=_15_0=6 M1
25
y = 6x2 A1
b When x=9
y = 6(9)
=486 A1
G Wheny =13.5,

6x2 = 13.5




x2 =225

x =150r-15 A2
11a 3x—-15=11+x M1

3x-x =11+15

2X = 26

X =13 A1
b 2y +1 =15y M1

1 =15y — 2y

1 = 13y

_ 1

y T3 A1
12a y-intercept is 2 B1
b |Ais(-2,4),Bis(2,0) B1,B1
¢ Gradient of line is - 1 A1

END OF PAPER 1




2NA MYE 2018 PAPER 2 MARKING SCHEME

Qn WORKING/ANSWER MARKS
No.
la | 27 Al
b | 26.98 Al
c 27.0 Al
2a 10 ‘
Speed = %x w
=12km/ h AI
b %1
Time = "§ *afl
—100min s P
c Total distance = 10+ 5 =15 km
Total time = 50 +10 =150 mins
15
Average speed=15() bl M1
= 6km / h i
3a _h—-6h _ 5h
- T - _? Al
b _ X=2U2x~3) M1
4
_x—4x+6
4
_6=3x
T4 Al
4 2X + 3y = 18---------—--(1)
2x %y =5 i (2)
(1) -(2)
4y=13
13 1
i) A1

Subst y= 3;1; into (2)

Method :1mark




33 1 1 Al
X = —x—=4—
4 2 8
5a 3(2x—1)=8x M1
6x—3 =8x
6x—8x =3
-2x =3
X =-1.5 Al
b 4x+3(2x-5) _s M1
12
4x+6x—-15=5x12
10x =60+15 M1
75
x e p—
10 ¥
=7.5
6a | =3d*+5d-6d-10-4d” +7d M1
— 2 —
=—d"+6d-10 Al
b =(4x —y)(4x —y +x) M1
=(4x —y)(5x—y)
=20x* — 4xy — 5xy + y? M1
= 20x? — 9xy +y? Al
7a | X-y?=(x—y)(x+y) M1
189 =7 (x+vy) M1
189
—=(x+
7 (x+y)
27 =(x+y) M
b X +y=27-————(1)
K RN (2)
Method: 1m
(1) +(2)
2x =34
X =17 Al
8a V and t are in inverse proportion because the product vt is always a | Showing all
constant values of vt: 1m
Reason: 1m
b Distance from home to JB = 200 km
Time taken =35h
. 200
His speed =E =57.143km / h(3d.p.) M1 A1l
c Time taken = @
80
=25h
He must set off at 11.30pm Al




9 X 0 2 4 6 M1
y -1 3 7 11
X 0 2 4 6 M1
y 2 0 -4
9b From the graph, the solutionsarex=1andy=1
10ai | K(p+q) Al
i | =23.45(59.12 + 40.88)
=23.45x 100
=2345 Al
10bi | From the graph the cost of a 7 minute call is 62 cents Al
i _80-20 M1
10
el Al
X =y —intercept
=20 Al
11a | Area=(x+3)(x-3) M1
= x*-9 Al
b Area of square = (x=5)(x~5) M1
=x*—100x + 25 Al
c Area remaining = (x* —9) — (x* — 100x + 25) M1
=10x - 34 Al
d 10x-34 =16
10x =16+34
=50
X =5 Al
12ai
y =kx*, where k is a constant.
Givenx =2, y =48
48 = k(2)*
48
k =—=6
3 M1
y=6x’ Al




When x =4,

y=6(4) =384
% increase = 38448 x100%
=700% Al
12bi | X+y=52 (1) Al
X + 4 = 3(y+4)-—mmemeem~(2) Al
ii From (2)
X+4=3y+12
S —(3) M1
X 4y = 52--a~(1)
(3)-(1)
-4y =-44
Y =11
Al

Brandon is 11 years old.




